VPRB-20

2 BUNK4000B

4 20676

4 20678

16 Y410

16 Y451

4 P

4  HPC

VPRB-30/40

2 BUNK4000B

4 20676

4 20678

16 Y410

16 Y451

4 P

4  HPC
VPRB-50

2 BUNK4000B

4

20908

VPRB PARTS BREAKDOWN

Pontoon bunks for LSV20100B
BUNK CARPETED ASSY V20/30/40/50B
BUNK SOCKET WELD ASSY

BUNK SOCKET PLATE 4 X 6.5"

3/8 X 2 1/2 HEX HEAD CAP SCREW

3/8" HEX LOCK NUT NYLON INSERT
CLEVISPIN 3/8 X 2 1/2" ZINC

HAIRPIN COTTER 1/8" DIA ZINC

Pontoon bunks for LSV30108 OR 120/40108 OR 120
BUNK CARPETED ASSY V20/30/40/50B

BUNK SOCKET WELD ASSY

BUNK SOCKET PLATE 4 X 6.5"

3/8 X 2 1/2 HEX HEAD CAP SCREW

3/8" HEX LOCK NUT NYLON INSERT

CLEVIS PIN 3/8 X 2 1/2" ZINC

HAIRPIN COTTER 1/8" DIA ZINC

Pontoon bunks for LSV50120B
BUNK CARPETED ASSY V20/30/40/50B
BUNK POST SOCKET ASSY FOR V50B



